



बिहार BIHAR *2764 का 1000 रुपये दिनांक 21-11-2014 का नं. ८१० (म. १२) नं.
03/10/25 की दिनांक ५२८-८१०-२५८* AY 919226
Below 0.05%, S/R

ANNEX-B
Agreement No - 12 CMBD/MMGSY/AWSESH-SC/2025-26
AGREEMENT FORM

This Agreement, made the ... 25/11/2025 ... day of... November 20.25 Between The Executive Engineer R.W.D Works Division, Bagha-2 ("The E/I") of the one part, and Rasha Engicon Private Limited, A202, Royal Court Aptt, Samanpura, Khajpura, Patna, Bihar, India, Pincode-800014 [Name & address of Contractor] ("The Contractor") of the other part.

Where as the E/I is desirous that the Contractor execute Up gradation and performance based Rural Road contract for the maintenance of Package No.- MMGSY (AWSESH-SC)-Bagha-2-604 (hereinafter called "The Works & Routine Maintenance") and the E/I has accepted the Bid by the Contractor for the execution of such The Construction Works & Routine Maintenance and the remedying of any defects therein, at a contract price of Rs. 5,60,39,136.00 (Five Crore Sixty Lakh Thirty Nine Thousands One Hundred Thirty Six) Only

Sl.No.	Package Number	Road & Bridge Name	Length(Km)
1	MMGSY (AWSESH-SC)- Bagha-2-604	<u>Part-A</u> MMGSY Road Malahi Tesariya to Tadwa Tola	1.009
2		<u>Part-B</u> Construction of HL. RCC Bridge Span 2 X 18.75 in MMGSY Road Malahi Tesariya to Tandwa Tola, Approach Road 200m	40.58m

NOW THIS AGREEMENT WITNESSETH and the Parties hereto agree as follows:

1. In this Agreement, words and expression shall have the same meanings as are respectively assigned to them in the General condition hereafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.
2. In consideration of the payments to be made by the E/I to the Contractor as here in after mentioned, the Contractor hereby covenants with the E/I to execute and complete the Works and remedy any defects there in conformity in all aspects with the provisions of the contract.

Rasha Engicon Private Limited
Rofat
Director

25-11-25
Executive Engineer
RWD (W) Div., Bagha-2
25/11/25

3. The E/I hereby covenants to pay the Contractor in consideration of the execution and completion of the Works and the remedying the defects wherein the contract price or such other sum as may become payable under the provisions of the contract at the times and in the manner prescribed by the contract.
4. The following documents shall be deemed to form and be read and construed as part of this Agreement, viz:
 - i) Letter of Acceptance
 - ii) Contractor's Bid
 - iii) Section VI-General Conditions,
 - iv) Section VII-Particular Conditions
 - v) Section V -Technical Specifications (General and Supplementary Technical Specifications)
 - vi) Appendix A-Drawings
 - vii) Section IV-Works Schedule
 - viii) Quality Plan for Output and Performance Based Road Contract as per Clause A14.1 of the Technical Specifications
 - ix) Appendices to the Contract
 - x) Addenda issued during bid period
 - xi) Any other relevant documents listed in the Particular Conditions together with any post bid correspondence.

In witness where of the parties thereto have caused this Agreement to be executed the day and year first before written.

The Common Seal of.....

was here unto affixed in the presence of :

Signed, sealed and delivered by the said

in the presence of :

Binding Signature of E/I

Binding Signature of Contractor

Rasha Engicon Private Limited
Rofat
Director

Om
25-11-15
Executive Engineer
PWD (W) Div., Bagha-2

Name of Agency :- Rasha Engicon Private Limited, A202, Royal Court Aptt, Samanpura, Khajpura, Patna, Bihar, India, Pincode-800014

Name of Work :-

Sl.No.	Name of Road
1	<u>Part-A</u> MMGSY Road Malahi Tesariya to Tadwa Tola
2	<u>Part-B</u> Construction of HL. RCC Bridge Span 2 X 18.75 in MMGSY Road Malahi Tesariya to Tandwa Tola, Approach Road 200m

Package No. :- MMGSY (AWSESH-SC)-Bagha-2-604

Agreement No. :- 19 CMBD/MMGSY (AWSESH-SC)/2025-26

Letter issued by :- Chief Engineer-5, Rural Works Department, Bihar, Patna.

Letter No. :- 3256 अनु०, Date- 16.09.2025

Agreement Value :- 5,60,39,136.00

Construction Cost :- 5,44,57,487.00

Maintenance Cost :- 15,81,649.00

Date of Work Order :- 17.09.2025

Time of Completion :- {01 (One Year) + 06 (Six Year)}

Performance Security :- 11,20,783.00 } 11,27,792.00

Additional Performance Guarantee :- 7,009.00 }

Security Deduct From bill :- 8% (Eight Percent)

No of Items :- 122

Rate :- 0.05% (Below)

Rasha Engicon Private Limited

Rafat
Director

Om
15-11-25
Executive Engineer
PWD (W) Div., Bagha-2

MMGSY (AWSESH-SC)-Bagha-2-604

Name of Contractor-Rasha Engicon Private Limited

Sl. No.	Name of Road	Construction Cost		Maintenance		Agreement Value
		Total Cost	Below Schedule of Rate 0.05%	Total Cost	Below Schedule of Rate 0.05%	
1	Part-A MMGSY Road Malahi Tesariya Tadwa Tola	1,43,87,810.60	1,43,80,616.69	13,00,788.72	13,00,138.33	1,56,80,755.02
2	Part-B Constructin of HL RCC Bridge Span 2x18.75 in MMGSY Road Malahi Tesariya to Tandwa Tola, Approach Road-200m	4,00,96,918.86	4,00,76,870.40	2,81,651.80	2,81,510.97	4,03,58,381.37
	Total	5,44,84,729.46	5,44,57,487.09	15,82,440.52	15,81,649.30	5,60,39,136.39
	Agreement Value					5,60,39,136.39

Rasha Engicon Private Limited

Rasha
Director

Executive Engineer

15/11/15
RASHA (W) Div., Bagha-2

**MUKHYAMANTRI GRAMIN SADAK YOJANA MMGSY (Awshesh) SC
BILL OF QUANTITIES (BOQ) - CONSTRUCTION**

BILL OF QUANTITIES (BOQ) : CONSTRUCTION

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola				
Block :	Bhitaha				
Length :	1.009 km				
Sl. No.	Description of Items	Qty.	Unit	Rate (Rs.)	
1	Setting Out Pillars - Providing & Fixing of Working benchmark Pillars 01 nos. per km & 04 Nos. of reference pillars required for 1 Km as per drawings given and direction of E/I	101	Km	13,679.85	13816.65
2	Clearing and Grubbing Road Land Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation , grass ,bushes ,shrubs , saplings and trees of girth upto 300mm , removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exceeding 150mm in thickness as per technical specification - clause 201.1 and direction of E/I (By Manual Means) In area of non-thorny jungle	0.36	Hect.	75,360.38	27129.74
3	Cutting of Trees including Cutting of Trunks, Branches and Removal of Stumps Cutting of trees, including cutting of trunks, branches and removal of stumps & roots, refilling, compaction of backfilling and stacking of serviceable material by manual means with all lifts as per Technical Specification Clause 201.7				
	Girth above 300 mm to 600 mm	12.00	Each	352.90	4234.80
	Girth above 600 mm to 900 mm	8.00	Each	611.21	4889.68
4					
5	Removal of Telephone/Electric Poles and Lines Removal of telephone/electric poles with wires including excavation and dismantling of foundation concrete and lines under the supervision of concerned department, disposal with all lifts and upto a lead of 1000 m and stacking the serviceable and unserviceable material separately as per Technical Specification Clause 202.	10.00	No	246.41	2464.10
6	Construction of embankment with approved material obtained from borrow pits with a lift upto 1.5 m, transporting to site, spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 100 m as per Technical Specification Clause 301.5	1861.80	Cum	147.61	274820.30
7	Construction of embankment with approved material obtained from borrow pits with a lift upto 1.5 m, transporting to site, spreading, grading to required slope and compacting to meet requirement of Tables 300.1 and 300.2 with a lead upto 1000 m as per Technical Specification Clause 301.5	54.16	Cum	239.97	12996.78
8	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m & 100 m as per Technical Specification Clause 303.1 (Including Royalty & Labour Cess)	2712.79	Cum	243.24	659859.04

Rasha Englcon Private Limited

Rotator
Director

Qam
25-11-15
Executive Engineer
RWD (W) Div., Bagha-2
M/1174

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola			
Block :	Bhitaha			
Length :	1.009 km			
Sl. No.	Description of Items	Qty.	Unit	Rate (Rs.)
9	Granular Sub-base with Well Graded Material (Table 400.1) :- Construction of granular sub-base by providing well graded material, spreading in uniform layers with tractor mounted grader arrangement on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401. (For Grading II Material)	507.85	Cum	3,078.28
10	WBM Grading 2 :- Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening/binding materials to fill-up the interstices of coarse aggregate, watering and compacting to the required density grading 2 as per Technical Specification Clause 405.	260.89	Cum	6,549.80
11	Providing, laying, spreading and compacting graded stone aggregate to wet mix macadam specification including premixing the material with water at OMC in mechanical mix plant carriage of mixed material by tipper to site, laying in uniform layers with grader in sub-base/base course on a well surface and compacting with vibratory roller to achieve the desired density.	289.58	Cum	5,399.12
12	Prime Coat (Low Porosity) :- Providing and applying primer coat with bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70-1.0kg/sqm using mechanical means as per Technical Specification Clause 502	3478.53	Sqm	57.36
13	Tack Coat.- Providing and applying tack coat with Bitumen emulsion (RS-1) using emulsion distributor at the rate of 0.25-0.30kg per sqm on the prepared granular surfaces treated with primer & cleaned with Hydraulic broom as per Technical Specification Clause 503.	3478.53	Sqm	19.74
14	Providing, laying and rolling of close-graded premix surfacing material of 20 mm thickness composed of 11.2 mm to 0.9 mm (Type-A) or 13.2 mm to 0.9 mm (Type-B) aggregates using penetration grade bitumen to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 8-10 kN static roller and finishing to required level and grades as per Technical Specification Clause 509	3478.53	Sqm	328.58

Rasha Engicon Private Limited

Rasha

Director

Executive Engineer
RWD (W) Div., Bagha-2
Shilpi

*Done
25/1/25*

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola			
Block :	Bhitaha			
Length :	1.009 km			
Sl. No.	Description of Items	Qty.	Unit	Rate (Rs.)
15	Construction of un-reinforced, plain cement concrete pavement (M35 Grade) over a prepared sub base with 43 grade cement @ 400 kg per cum, coarse and fine aggregate conforming to IS 383, maximum size of coarse aggregate not exceeding 25 mm, mixed in a batching and mixing plant as per approved mix design, transported to site, laid with a fixed form paver, spread, compacted and finished in a continuous operation including provision of 0.5 x 0.5 panel, joint filler, separation membrane, sealant primer, joint sealant, debonding strip, admixtures as approved, curing compound, finishing to lines and grades as per drawing	38.25	Cum	8,574.44
16	Laying brick soling layer on prepared sub-grade with brick on end edging according to lines, graded and cross-section shown on the drawing filling joints with sand and earth, spreading 25 mm thick layer of earth over brick soling, watering and rolling the same with three wheel road roller 80-100 kN as per Technical Specification Clause 412	51.00	Sqm	500.49
	TRAFFIC SIGNS, MARKINGS & OTHER ROAD APPURTENANCES			
17	Kilometre Stone Reinforced cement concrete M15 grade kilometre stone/local stone of standard design as per IRC:8 fixing in position including painting and printing, etc as per drawing and Technical Specification Clause 1703			
18	Ordinary Kilometer Stone (Precast) 200 m stone (precast)	2.00	Each	3,158.76
19	(I) Providing and Fixing 'Logo' of PMGSY Project :- Providing and fixing of typical PMGSY informative sign board with Logo as per MORD specifications and drawing. Three MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All sections of framed posts and steel tube will be painted with primer and two coats of epoxy paint as per drawing Clause 1701 and Annexure 1700.1	4.00	Each	11,208.00
20	Printing new letter and figures of any shade with synthetic enamel paint black or any other approved colour to give an even shade as per drawings and Technical Specification Clause 1701	176.00	per cm height per letter	0.74
				130.24

Rasha Engicon Private Limited

Rafat
Director

25/1-25
Executive Engineer
RWD (W) Div., Bagha-2
M/111

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola			
Block :	Bhitaha		District :- West Champaran	
Length :	1.009 km			
Sl. No.	Description of Items	Qty.	Unit	Rate (Rs.)
21	Boundary Pillar/Gaurd Post :- Reinforced cement concrete M15 grade boundary pillars/local stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and Technical Specification Clause 1704	52.00	No	639.35
22	Rumble Strips : Provision of 15 nos rumble strips covered with premix bituminous carpet, 15-20 mm high at center, 250 mm wide placed at 1 m center to center at approved locations to control speed, marked with white strips of road marking paint.	6.75	Sqm	1,106.98
23	Traffic Signs :- Providing and fixing of Retro reflective cautionary , mandatory and informative sign board as per IRC :67 made of 1.5 mm thick MS steel duly stove white colour in front and gray colour on back with red reflective border of 65 mm width and required letters and figures with reflective tape engineering grade as per clause 1701.3.9 of MORD for rural road of required shade and colour supported and welded on 47mmx47mmx12swg sheet tube firmly fixed to the ground by mean of properly designed foundation with M15 grade cement concrete 450x450x600 mm ,600mm below ground level as per approved drawing clause 1701.2.2.			
	900 mm equilateral & triangle , OR	2.00	Each	6,137.07
24	600 mm equilateral & triangle, OR	8.00	Each	4,085.24
25	600 mm circular , OR	7.00	Each	5,426.01
26	600 mm x 450 mm rectangular, OR	3.00	Each	5,288.76
27	900 mm side octagon, OR	2.00	Each	9,532.79
28	Road Marking with Hot Applied Thermoplastic Compound with Reflectorising Glass Beads on Concrete Surface :- Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35 .The finished surface to be level, uniform and free from streaks and holes.	20.00	Sqm	879.72
29	Road Marking with Hot Applied Thermoplastic Compound with Reflectorising Glass Beads on Bituminous Surface :- Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35 .The finished surface to be level, uniform and free from streaks and holes	181.88	Sqm	778.40
30	Planting of trees by the road side (Avenue trees) in 0.60 m dia holes, 1 m deep dug in the ground, mixing the soil with decayed farm yard/sludge manure, planting the saplings, backfilling the trench, watering, fixing the tree guard and maintaining the plants for one year	36.00	Each	1,248.07
				44930.52

Rasha Engicon Private Limited

Rafat

Director

25-11-25

Executive Engineer
PWD (W) Div., Bagha-2
MHM

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola				
Block :	Bhitaha		District :	West Champaran	
Length :	1 009 km				
Sl. No.	Description of Items		Qty.	Unit	
	Cross Drainage Works		Rate (Rs.)	Amount (Rs.)	
31	Irrigation Pipe (300MM Dia)				
	Providing and laying of a reinforced cement concrete pipe duct, 300 mm dia, across the road (new construction), extending from drain to drain in cuts and toe of slope to toe of slope in fills, constructing head walls at both ends, providing a minimum fill of granular material over top and sides of RCC pipe as per IRC 981997, bedded on a 0.3 m thick layer of granular material free of rock pieces, outer to outer distance of pipe at least half dia of pipe subject to minimum 450 mm in case of double and triple row ducts, joints to be made leak proof, invert level of duct to be above higher than ground level to prevent entry of water and dirt, all as per IRC: 98 - 1997 and approved drawings.	40.00	RM	1,006.92	40276.80
	Box Culverts				
	Foundation				
32	Earth work in excavation of foundation of structures as per drawing and technical specification, including setting out, construction of shoring and bracing, removal of stumps and other deleterious matter, dressing of sides and bottom and backfilling with approved material.	153.98	Cum	80.87	12452.36
33	Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203 PCC M-15 Grade	18.96	Cum	8,084.65	153284.96
34	Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203 PCC M-20 Grade	63.44	Cum	8,825.43	559885.28
35	Supplying, fitting and placing HYSD bar reinforcement in foundation complete as per drawings and technical specifications Clauses 1000 and 1202	0.26	MT	65,189.26	16949.21
	Sub Structure				
36	Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 and 1204 PCC M-20 Grade	41.63	Cum	9,105.79	379074.04
37	Providing weepholes in brick masonry/stone masonry, plain/reinforced concrete abutment, wing wall, return wall with 100 mm dia AC pipe extending through the full width of the structures with slope of 1(V):20(H) towards drawing face complete as per drawing and technical specification Clauses 614, 709, 1204 3 7	96.00	Nos	134.35	12897.60
38	Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 and 1204 RCC M-25 Grade	36.08	Cum	9,690.75	349642.26
39	Supplying, fitting and placing HYSD bar reinforcement (Fe 415) in substructure complete as per drawings and technical specification Clauses 1002, 1005, 1010 & 1202	3.25	MT	65,397.45	212541.71
40	Backfilling behind abutment, wing wall and return wall complete as per drawings & technical specification Clause 1204 3 8 (With Sandy Materials)	90.81	Cum	913.96	82996.71

Rasha Engcon Private Limited

Rafat

Director

Executive Engineer
RWD (W) Div., Bagha-2

25-11-15

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola				
Block :	Bhitaha				
Length :	1.009 km				
Sl. No.	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
41	Providing and laying filter media with granular crushed aggregates as per specification to a thickness of not less than 600 mm with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specification Clause 1204.3.8	53.58	Cum	4,907.41	262939.03
	<u>Superstructure</u>				
42	Providing and laying reinforced cement concrete in superstructure as per drawing and technical specifications Clauses 800, 1205.4 and 1205.5 RCC M-30 Grade	13.58	Cum	10,389.65	141091.45
43	Supplying, fitting, and placing HYSD bar reinforcement in superstructure complete as per drawing and technical specifications Clauses 1002, 1010 and 1202	1.43	MT	66,914.11	95687.18
44	Parapet Construction Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 and 1204 (M25)	3.02	Cum	10,142.80	30631.26
45	Painting on Parapet Wall (Black & White Strips) Painting two coats including primer coat after filling the surface with synthetic enamel paint in all shades on new, plastered / concrete surfaces as per drawing and Technical Specification Clause 1701	22.08	Sqm	129.57	2860.91
46	Drainage spouts complete as per drawing and technical specifications Clause 1209	8.00	Nos	927.82	7422.56
	<u>5TH YEAR PERIODIC RENEWAL</u>				
47	Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surface treated with Primer and cleaned with hydriloc broom as per technical specification clause 503.	3478.53	Sqm	19.74	68666.18
48	Providing and laying semi dense bituminous concrete with 100-120 TPH batch type HMP producing an average output of 75 tonnes per hour using crushed aggregates of specified grading, premixed with bituminous binder @ 4.5 to 5 per cent of mix and filler, transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MoRTH specification clause No. 508 complete in all respects.	86.96	Cum	15,119.71	1314809.98
49	Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished surface to be level, uniform and free from streaks and holes. (Flexible Pavement)	181.88	Sqm	778.40	141575.39

Rasha Engicon Private Limited

Rafat

Director

Qazi
25-1-25

Executive Engineer
RWD (W) Div., Bagha-2
11/11/11

Name of Road :	MMGSY Road Malahi Tesariya To Tadwa Tola				
Block :	Bhitaha				District : West Champaran
Length :	1.009 km				
Sl. No.	Description of Items	Qty.	Unit	Rate (Rs.)	Amount (Rs.)
50	Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished surface to be level, uniform and free from streaks and holes. (Rigid Pavement)	20.00	Sqm	879.72	17594.40
				Construction Cost (A) :-	11921856.23
51	Add Labour @ 1% on Construction Cost (A) :-				119218.56
52	Add 10% S.F on Basic Materials Cost :-				151984.05
	Sub Total Construction Cost (Including 1% Labour Cess & 10% S.F) :-				12193058.84
53	Add GST @ 18% on Sub Total Construction Cost (Including 1% Labour Cess & 10% S.F) :-				2194750.59
				Total Construction Cost (A) :-	14387809.44
54 51	1st Year Maintenance cost	1.00	Year	154158.00	154158.00
55 52	2nd Year Maintenance cost	1.00	Year	201173.08	201173.08
56 53	3rd Year Maintenance cost	1.00	Year	205812.00	205812.00
57 54	4th Year Maintenance cost	1.00	Year	269516.00	269516.00
55 55	6th Year Maintenance cost	1.00	Year	112418.00	112418.00
59 56	7th Year Maintenance cost	1.00	Year	136539.00	136539.00
				Maintenance Cost (B) :-	1079616.08
60	Add Labour @ 1% on Maintenance Cost (A) :-				10796.16
61	Add 10% S.F on Basic Materials Cost :-				11951.08
	Sub Total Maintenance Cost (Including 1% Labour Cess & 10% S.F) :-				1102363.32
(E2)	Add GST @ 18% on Sub Total Maintenance Cost (Including 1% Labour Cess & 10% S.F) :-				198425.40
				Total Maintenance Cost (B) :-	1300788.72
				Total Project Cost(A+B)	15688598.16

Close
24/9/2014

Rasha Engicon Private Limited

Rofat

Director

25/11/2014

Executive Engineer
PWD (W) Div., Bagha-2
Rash Engicon